2019 F450F)NIRPYF a7 IV IEFEHRRX
RET7 40 BERFEBRSINOBEBRFREF B/ IRRKEFESHR It BNIRHEZER

RE1 90 BARR—YVRY—-ZXT)LI#HE: B ISRREFEEHX (BN BB R—VIBE

REOQ MEI v RPYFaAP IV ITEFEREFTR

FE BNEIILDHE
=108 RiEs ﬁ1’f€_ MEIJILER
®E NEHRET

I i1 K %2 ®E P E Total 1R 2R OUT - IN ER A % ®E P B Total 1R 2R OUT - IN g i1 K & @8 P B Total 1R 2R OUT - IN B i1 K 2 ®E P B Total 1R 2R OUT - IN
¥ 1 43 188 2 B&c 70 70 (34 36) % ATORE #B— 9 ZmMI-NC 81 81 (43 38) * 110O/R FE +14 uwskc 86 86 ( 43 43) 166 @A L2z 23 smIarc 95 95 ( 49 46)
¥ MBI F0E 2 BE&C 70 70 (3337) % OZM W +9 ZIC 81 81 (40 41) % 052 N +14 BHC 86 86 (43 43) 167 K I +25 =G 97 o7 (48 49)
* 3 BK (FPRBR 0 mmyrwvc 72 T2 (35 37) % SR 1818 +9 E}C 81 81 (41 40) * 85K fBth +14 =3C 86 86 ( 40 46) 1680 KT FIBE  +27 =RC 99 99 ( 53 46)
Y o 48 +0 B&C 72 T2 (37 35) % 590 %/ |- 10 EEC 82 82 (42 40) * OCEN = +14 BT -INC 86 86 (42 44) gZEOPE —FR BIAC ( )
* ME A +0 BKC 72 T2 (36 36) % O=x FF +10 mEUxC 82 82 (41 41) % SiE o 14 meC 86 86 (43 43) RE O 2% =ZIC ( )
* 6 BiE s +1 D{IESHIC 73 73 (38 35) % T B +10 E&C 82 82 (39 43) * HRK BB +4upomEm 86 86 (44 42) OB HE D1INEHAC ( )
> ORTE AB +1 ZEJC 73 73 (39 34) % RIR FR0 +10 sy vy e 82 82 (43 39) * 1RE Bt 14 swmr-wwc 86 86 ( 43 43) a8 Bz I-IG ( )
¥ 2l 8% 1 9y oFEm (3 73 (36 37) ¥* O8Il —%&  +10 @5EC 82 82 (41 41) % g XFW 14 BsC 86 86 (44 42) R 85 =aile) ( )
¥ 9 2| fgz 2 BRTONC T4 T4 (35 39) % K BT +10 =|%C 82 82 (44 38) * O B +14 BeC 86 86 (42 44) st BsC ( )
¥ 21 A +2 EWC 74 T4 (38 36) % ORI B +10 wmEuRC 82 82 (41 41) s AFD +14 BIKC 86 86 ( 44 42) g % BEC ( )
¥ MOEN &8 +3 ZEIJC 75 75 (37 38) * = +10 $¥3{3° C 82 82 (42 40) fxy —18 +14 JI772EC 86 86 (45 41) CINGG A N DEEERS ( )
Y 12 &8 =—Bi +4 ®Buxc 76 76 (3838) % R 2P 10 #mC 82 82 (139 43) 122 TR R +156 =3C 87 87 (43 44) AN R C ( )
¥ Galll Fts +4  :2RIC 76 76 (40 36) * 68 |UA BB +11 4953 C 83 83 (40 43) Of B +15 7177:2BC 87 87 (41 46) ™My BE oo VRS ( )
* ng EHx +4 HEC 76 76 (40 36) * OHERA #2XX +11 Mrz|c 83 83 (45 38) BH FE 15 30P 87 87 (43 44) O B 2RIC ( )
s 15 25H f®ABE +5 smywvc 77 77 (42 35) * HE B +11 gmy-bc 83 83 ( 40 43) s &2 15 =pc 87 87 ( 44 43) Oy HfE #5X C ( )
¥ IR KFD 5 My vEEm (7 77 (37 40) C=%¥ Bx +11 @myarc 83 83 (42 41) 126 @ F— +16 JIpe@C 88 88 ( 47 41) CHB)IL #D3A ZmC ( )
Yo i oy +5 ZYC 7777 (40 37) % =5 —8 +11 B&C 83 83 (45 38) OWF =7 +16 =0 88 88 ( 44 44) =E [E3 BHC ( )
Yo G +5 IYI-IG 7777 (40 37) % =TT +11 Z/YC 83 83 (43 40) OEIF B= +16 B&C 88 88 ( 44 44) SIF St BHC ( )
¥ i Bt 5 gwyrawye 7777 (39 38) % CBH T 11 duc 83 83 (40 43) OME B 1esmom=m 838 88 (46 42) S5 ES BIC ( )
o OFEK #E 5 EBC 77T (4136) * = 11 sy whc 83 83 (40 43) B W3 16 mmINCc 88 88 (46 42)
* =K —H 5 BMT-NCe 77 77 (38 39) % OB/AR —E +11 :pC 83 83 (41 42) wE B— 16 MuSne 88 88 (45 43)
* 22 @it &wL +6 BEC 78 78 (40 38) * OB #—eR +11 =mrourc 83 83 ( 39 44 ) INEF F03A  +16 3HAC 88 88 (43 45)
¥ FH 1B +6 ZEYC 78 78 (36 42) * mE =5 +11 717p28C 83 83 ( 40 43) 183BOR M= +17 @5%C 89 89 (42 47)
¥ = ¥ +6 -G 78 78 (40 38) * Bl Bse +11 =yc 83 83 (42 41) BIELIK VAN +17 swrysbc 89 89 (43 46)
¥ Al SEN +6 BIC 78 78 (37 41) * B0 B +11 ZWC 83 83 (42 41) OHA WIB 17 =xCc 89 89 (46 43)
¥ OCH/EAN 5 +6 #3{1 C 78 78 (40 38) * e B— +11 @R C 83 83 (41 42) Xfg E£8 17 o=y 89 89 (43 46)
* OCEM T 6 BEC 78 78 (39 39) % OfE HIB +11 =EC 83 83 (41 42) 58 BE 17 suc 89 89 (45 44)
e CEFEKR RXx +6 BEC 78 78 (41 37) * opHE Em= +11 #9513 C 83 83 (43 40) N = A7 sy og=Es 89 89 (44 45)
* 29 =58 - +7 =G 79 79 (36 43) % O¥ED Rz 11 wmEuxC 83 83 (41 42) 1300 B  +18 muc 90 90 ( 50 40)
* BEH KA T HEC 79 79 (39 40) * iR Atk <11 swr-akc 83 83 (42 41) B HE 18 mmrwrc 90 90 ( 42 48)
¥ ) hoESL 7 Bec 79 79 (41 38) * 86OME T  +12 {USHC 84 84 (43 41) EBNI &  +18 #51C 90 90 ( 46 44 )
¥ T =3 +7 E}C 79 79 (40 39) * O/ W2 +12 D{INESHAC 84 84 (42 42) D R +18 by ogi=s 90 90 (43 47)
¥ OiRE FI= +7 ERC 79 79 (38 41) * DL F0= 12 s vE=m 84 84 (43 41) £ 3AR  +18 TG 90 90 (44 46)
¥ MR S3A +7 53 C 79 79 (43 36) * Al 8=  +12 =3c 84 84 (42 42) OMAR =L +18 muC 90 90 (48 42)
e BFHHE Bt +7 BRIV C 79 79 (40 39) * SA BYE 12 sy c 84 84 (42 42) T 2 +18 3ERC 90 90 (46 44 )
* 36 —= H +8 EEC 80 80 (39 41) % WE B 12 heec 84 84 (43 41) Ol IFIZ +18 nfusic 90 90 ( 44 46)
* ok EfT +8 51 C 80 80 (39 41) % OCEH BT +12 MrEEC 84 84 (43 41) OEH B—  +18 =mC 90 90 (47 43)
* =F S8 +8 WELIX C 80 80 (38 42) * OPAR —3A  +12 n@pP 84 84 (43 41) =y +18 INSEG 90 90 (43 47)
¥ EEOIFA +8 HEC 80 80 (38 42) * BE B=%  +12 nppEEc 84 84 (41 43) CINE EmM  +18 :Ec 90 90 (47 43)
¥ hkiE 25 +8 II-IG 80 80 (39 41) * BE L 12 =3 84 84 (39 45) 150 =M WIE  +19 mEC 91 o1 (48 43)
¥ oY= NI | +8 RIC 80 80 (40 40) * B FT 12 #mEC 84 84 (45 39) OqH F +19 n@pP 91 91 (48 43)
¥ alll X +8 HEIKC 80 80 (37 43) % £X ThHBf +12 SRR C 84 84 (43 41) 58 EIE +19 =C 91 o1 (48 43)
* OfEp 1B +8 ZIP 80 80 (42 38) * sh o8 +12 e 84 84 (43 41) o N = +19 INSEG 91 o1 (48 43)
* OiEm BT +8 =G 80 80 (40 40) * 99 ={F #®B— 13 11IG 85 85 (44 41) 154 Skt Bty +20 zRC 92 92 (48 44)
* e B +8 BEC 80 80 (38 42) * KE E[E  +13 =1 85 85 (43 42) SWEK =B +20 BHC 92 92 (43 49)
¥ CRIRA MIT +8 mEuxc 80 80 (41 39) * M BRE +13 g1 -ikc 85 85 (42 43) BE =25 +20 INgEG Q02 92 (52 40)
¥ 47 hEIR BEE 9 hEeG 81 81 (38 43) * OFh B +13 mec 85 85 (44 41) 157 ORER &—  +21 DG 93 93 ( 43 50 )
e ;E MUE +9 N&P 81 &1 (42 39) % =l &l +13 ZJC 85 85 (41 44) O=E = +21 sy e 93 93 ( 47 46) B & E®R31F481780K) - 188 CK)
* Fml =5 +Q ZEJC 81 81 (39 42) * ZIF HE +13 BHC 85 85 (44 41) ElR = +21 2R5C 93 93 (46 47) = B O0IVvILEehy =057
e KR ABA +9 =wC 81 81 (40 41) * D)l WA 13 1386 85 85 (42 43) OKPG —2h  +21 =WC 93 93 (47 46) }7\0:“ %585
* B’BA B2 O sy o= 81 81 (46 35) * FE BA 13 UG 85 85 (48 37) OTfE BB +21 mmr-lbc 93 93 ( B0 43) J—2L—F 721
* BE =—8F +9 mwryrc 81 81 (41 40) * Ox/sO = +18 =xyC 85 85 (41 44) thA 292  +21 ZEC 93 93 ( 44 49) - o - -
% OFE WA 49 mEC 81 sf (41 40) % =5 —8  +13 =Hc 85 85 ( 40 45 ) Ok EEZ 21 muC 93 93 (44 49) mEESR BA &
e BE %= +9 IRHC 81 81 (41 40) * JNEE &3A +13 HEC 85 85 (44 41) 164025 HBER +22 TI-G o4 94 (47 47)
¥ ME Y +9 ZE}C 81 81 (42 39) * 110 @JIl FEA  +14 =mc 86 86 (42 44) OME =8 22 mmrayrc 94 94 (43 51)




